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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
zhLst 1.00 | 000 ~ 6.00 7512 | FnLS | 0.00 ~ 0.00| 1.69 9.05 Fhst 1.00 | 500 ~ 6.87 76.12 | =St | 6.00 6.87 | 1.69 9.05
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % — — — —
zhLst 1.00 | 000 ~ 685 86.64 | Ths o000 ~ 685 1.73 9.23 zhLst 1.00 | 6.00 ~ 841 86.64 | ThLS | 5.00 841|173 9.23
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
zhLst 1.00 | 000 ~ 685 86.73 | #hdst |0o0o ~ 685|1.76 9.40 zhLst 1.00 | 6.00 ~ 840 86.73 | EhLS | 5.00 840 1.76 9.40
p 100kN/mM#E#BZ5 | 1.00 | 000 ~ 150 122.77 |3mZ#BAB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1086 ~ 1670 122.77 |3mE#¥z23 — — — —
zhLst 100|150 ~ 928\ 100.00| FThLs | 000 ~ 928|225 12.03 zhLst 1.00 | 500 ~ 108 100.00 | Fnhst | 6.00 16.70 | 2.256 12.03
5 100kN/m##8%z% | 1.00 | 000 ~ 162 124.80 |3m%xBz%| — ~ — — — | 100kN/m%#z25 | 1.00 | 10.72 ~ 1693 124.80 |3mE#z 3 — — — —
zhLst 100|162 ~ 941 100.00 | #nst | 000 ~ 941|228 12.19 zhLst 1.00 | 600 ~ 1072 100.00 | Fhst | 6.00 1693 | 2.28 12.19
P 100kN/m%#8%z% | 1.00 | 000 ~ 047 107.03 |3m%x#Bz%| — ~ — — — | 100kN/m%i#82% | 1.00 | 10.92 ~ 1241 107.03 |3mZi#BAD — — — —
zhLst 100|047 ~ 826\ 100.00| FThis | 000 ~ 826 2.06 11.03 zhLst 1.00 | 500 ~ 1092 100.00 | Fnhst | 6.00 1241 | 2.06 11.03
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
Thilst 1.00 | 000 ~ 766 9817 | #hst | 0oo ~ 766|219 11.70 Thilst 1.00 | 6.00 ~ 1021 9817 | =hLs | 5.00 1021 2.19 11.70
3 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B — — — —
Thilst 1.00 | 000 ~ 519 64.74 | Fhst | 0oo ~ 519 1.83 9.80 Thilst 1.00 | 6.00 ~ 56.70 64.74 | RS | 5.00 5.70 | 1.83 9.80
9 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3m%E{BZ B — — — —
Thilst 1.00 | 000 ~ 561 70.06 | #nst | 000 ~ 561\ 1.91 10.22 st 1.00 | 6.00 ~ 6.569 70.06 | =nSt | 6.00 6.59 | 1.91 10.22
10 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B — — — —
Ths 1.00 | 000 ~ 687 87.00 | #hst |ooo ~ 687|1.76 9.41 Ths 1.00 | 5.00 ~ 844 87.00 | Fhs | 5.00 844 | 1.76 9.41
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zhusn
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zhusn
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zh s
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zh s
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Thst ~ Thst ~ ZThst ~ Zh s




